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Question Number : 1 Question Id : 3354727731 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

In which year did Sir C.V. Raman discover what came to be known as the Raman Effect? | &€ &1 81 w09 o fomg af
H aTice TR St TR T oF &0 | ST AT w7

Options:

1. % 1925
= ¥ 1928
3. % 1932
4 % 1935

Question Number : 2 Question Id : 3354727732 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In which state is the Lali Sanctuary situated? | ATHT SRTER0T T 0= # 28h &7

Options:

1. % Kerala | owa

2. % Madhva Pradesh | FeT 0gT
2. % Maharashtra | AgWIE

4 % Arunachal Pradesh | S0 Tea

Question Number : 3 Question Id : 3354727733 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which vitarmin prevents the bleeding of gurns? | &1 AT BT AGST & THATE S ¥R Fd7 57

Options:

1. # Nicotinamide | FefamEs
2. % Thiamine | SMH

3. Ascorbic acid | UT@e® TR
4. % Eiotin [ ST

Question Number : 4 Question Id : 3354727734 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
when did the Quit India Movermnent start? | /I 12! &6 ta ST 3177

Options:

1. % July 1942 | 716 1942

2 ¥ August 1942 | ST 1942

% % September 1942 | Warw 1942

4. % OQctober 1942 | a/Eaw 1942

Question Number : 5 Question Id : 3354727735 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

World Telecormrrmnications Day’ 15 celebrated on
AT AT 21

Options:

1.v 17th May | 17 A2
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2. % 15th May | 15 7%
3 % 13th May | 1378
4 % 11thMay [ 11 78

Question Number : 6 Question Id : 3354727736 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
The Article 352 of the Indian Constitution deals with: | 9 1 HiermT &7 SJWE oo

Options:
1. ¥ Centre-state relations | dg-T=4 Gad

= % Supreme Court | JgdH ~OHEWT
2. #® State emnergency | T ATATARTA
4. ¥ MNational emergency | TR ATITHTA

Question Number : 7 Question Id : 3354727737 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which controversial godrrian was %?élea for 20 vears on charges of rape and assault in August 20177 | s7med

2017 # TATcH R ST FAe & At # TomaTeTs | @ 20 916 o TolT e =17 73T 417
Options:

1. ¢ Gurmeet Ram Rahim Singh Insaan | TRAWT T7 10 g 276

2. % Symarn Aseernanand | HAWT SEHANS

3. ¥ Swmarni Premananda | HaHT TETHS

4. % Asararm Bapu [ SR M

Question Number : 8 Question Id : 3354727738 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Wwhere is the National Defense Acadermy located at? | T 14T STFTSHT FET 29T 77

Options:

1. ® Ezhimala | TGHTAT

2. % Dehradun | g0

2. ¥ Khadakvasla | GShamar

4. % Vishakhapatnam | Seama@mm-m

Question Number : 9 Question Id : 3354727739 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
When did Janata Party come to power at the Centre? | S=dT UTe] el e o o7 # 378 off?

Options:
1. % 1370

2. ¥ 1977
3. % 1998
4. % 2014

Question Number : 10 Question Id : 3354727740 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
‘BHIM' is the acronym for: | 'BHIM' &7 qiaull (=) ?:F'Ir%‘:
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Options:

1.p # EBharat Initiative for Mobile money | 9RT SHIEURT B1E AlEEA A4T
2 % EBharat Introduction to Mobile Money | WRT §g ST ¢ AlaTga JAr
Z. % Bharat Heavy Industries Management | YRT gal 58€e o Adafe

4. ¥ Bharat Interface for Money | YT Se0d B¢ 74T

Question Number : 11 Question Id : 3354727741 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

River that makes a boundary between Madhva Pradesh and Uttar Pradesh is; | A% W4T Ug 307 WS4 F & U
AT T =TT 720 8

Options:

1. % Jamni | AT
2. % Chambal | =&
3. % Betwa | =dar

4. % Gambhir | THR

Question Number : 12 Question Id : 3354727742 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

which of the following is the first 15O certified railway station in Madhva Pradesh? | FaieEas # € a9 ar @
T2 H UEAT IS THITE fald #2957

Options:

1. % Habibganj | gefamrr
2 % Khurai | 98

2. ® Indore | 22X

4. % Bhopal | AT

Question Number : 13 Question Id : 3354727743 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Where is the Mehrangarh Fort located? | WgtTATs Tofel #8T 79T 27

Options:

1. % Kota | ®T

2 % Udaipur | 3g99%
% % Ajmer | SFHET

4 ¥ Jodhpur | ST

Question Number : 14 Question Id : 3354727744 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The coins of which ruler were found in Shahdol District? | SESie Fet # T amee o Fgy ony my 47
Options:

1. ¥ Kanishka | @5

2 % Sarmundragupta | TEIIH

3 % Ashol | st

4 ® skbar | adeT
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Question Number : 15 Question Id : 3354727745 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

which of the following is the famous pilgrimage centre situated on the banks of the Narmada? | FeRET & &
T AT Wiehg o AT #g Adar & 92 ux T 27

Options:

1. #¥ Hoshangabad | giammane
2. % Machleshwar | FeleFaT

2. ¥ Omkareshwar | aHENSET

4 % Eastern Nimar | &1 AT

Question Number : 16 Question Id : 3354727746 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
In which national park is the nature-rich travel destination Madhai located? | &7 TP 29 H WidFld e &0 d 903

ATAT T A

Options:

1. % Bandhavgarh | amamg
2 % Pench | 4

% % Sanjay | 99

4. ¥ Satpura | GIYST

Question Number : 17 Question Id : 3354727747 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Who built the Deogarh Fort? | 2amg fopaT e a=man?

Options:
1. % Gond king - Raja Jaraw | T T4 - 47T ARG

2. % Chandragupt Maurya | =gd A1
% % Nawab of Ehopal | W& & Tard
4. % Emperor Ashok | T8 3780F

Question Number : 18 Question Id : 3354727748 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Who was the first wornan Prirme minister of India whose 100th birth anniversary was celebrated in MNovernber

20177 | VT 1 WA AiEAT TeTAGT #1 off BT 100 aumis Jgew 2017 # 741 78 <7
Options:

1. % vijaylakshrmi Pandit | E=aegt oiza

2. ¥ Indira Gandi | gfexr et

3. % Rajkurnari Amrit Kaur | ITHHEHT 70T &7

4. % Maneka Gandhi | A= el

Question Number : 19 Question Id : 3354727749 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

which Indian north-eastern state does china clairm as its owrl territory? | F9 & 9 19 FO-TdT (=4 0 2 ST
& 1T T 1T AT 7

Options:

1. ® Meghalaya | FETET
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2. % Asgsarm | SH
= ¥ Arunachal Pradesh | SR A
4 % Wizoram | foFRH

19th Dec17 Shift 2

Question Number : 20 Question Id : 3354727750 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

ND?EI’H‘DEI‘ 11 is celebrated as MNational Education Day in honor of which freedom fighter and minister? | Terey

T AT EAT & AT & G H 11 A6 F 1 e 6 oae & ' § AT AT a7

Options:

1. ® sardar Vallabhai Patel | GE2 Tee4TE TE

2. % ]E. Kriplani | = &7 §oa=T
= % Pandit Nehru | Uf29 75&

4 % Maulana Abdul Kalam Azad | ﬂaIFrrFITEH-s.g_m A TH HTATS

Zeneral Maths and General Aptitude

Section Id :

Section Number :

Section type:

Mandatory or Optional:

Number of Questions:

Number of Questionsto be attempted:
Section Marks:

Display Number Panel:

Group All Questions:

Sub-Section Number:
Sub-Section 1d:
Question Shuffling Allowed :

335472249
2

Online
Mandatory
20

20

20

Yes

No

1
335472249
Yes

Question Number : 21 Question Id : 3354727751 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The number £545 can be written as a product of a pair of positive two-digit numbers. What is the sum of this

pair of nurnbers? | GEAT 6545 FT HHCHE o - T Tt o JF o [0HE & &0 H Toar A1 9%aT g1 aedmell & 56

T TG F7 57
Options:
1.9 162

2 % 172
3. % 173
4. % 174

Question Number : 22 Question Id : 3354727752 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

If 18 men can finish a piece of work in 25 days, then in how many dagﬁs will 15 men take to complete it? | ATS

15 amedt 25 feat § uar ®1f 1 90T # G &, 1 15 70T 56 1 & gaT @t

Options:

ToTy et et o
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35 T
30 &
32 feq
33 e

1. % 2t davs |
=z ¥ Z0days |
3. % 3z davs |
4 % 33days |

Question Number : 23 Question Id : 3354727753 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The area of a rectangle is 180 sq. units and the perimeter is 54 units. [f each side of the rectangle is increased
bw 2 units, then what is the area of the resulting rectangle in sq. Units? | 7% 4T @7 89% 180 =7 S@EE &t

S4 gepTe 51 ATe ST i Uediel AT H 3 SHIS ol Jig, P o AN, T TCOTHT ST 67 a7 S5 H SFhe T 57
Options:
1. % ZE0
2. ¥ 270
3% 420
4. % 450

Question Number : 24 Question Id : 3354727754 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
(23 + 3 -4 +56) =7
Options:

1. % Exu+9

z ¥ [(-Zx-3)

3% a4

4 % (-6x-9)

Question Number : 25 Question Id : 3354727755 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Find the average. | sfag Faiem
oE, 19, 20, 21, 12

Options:
1.9 28

2. % 24
3w 22
4. % 20

Question Number : 26 Question Id : 3354727756 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Three friends, whose age difference is 1 vear each, find that the sum of their ages is 63, What is the age of the

g.roungest%gfthe three? | 319 i, PRt T3 #7 3a7 1 9 &, UTd 8 77 39 30 @1 g A0 63 81 41 H Had 718 6T
I fepa=iT 2

Options:
1. % 17
2 % 18
3. ¥ 20
4 % 21
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Question Number : 27 Question Id : 3354727757 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
If5x!— 6x+7=0, then(5x -3} is /O 5x2-6x+7=0,0dd (5x-3)? 7l

Options:

1. % 35
2. % 35
3.9 26
4 % 26

Question Number : 28 Question Id : 3354727758 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

If{x - 3) is a factor of ¥’ —3x” +6x—18, then the remainder when x° —3x" +6x—18is divided by
(x-3)is__. /T X —3x% +6x—18 T Uh 0TS (x - 3) &, T ¥ —3x% +6x—18 F(x-2) &

CLIEGETC R eI

Options:
1. % 32
R
3% 1
4 ¥ 0

Question Number : 29 Question Id : 3354727759 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
& sequence starts with 1, 2, 2. The next number is the sum of the previous three numbersie, & The Sth
rnumnber is the surm of the previons three nurmbers and so o The Bth number in the Sequence 1s___. | U &J@d

1, 2, 3 & AW 5197 51 SMTHT G et 1 Teegmatt &7 9 § 41 6 31 Saﬁmaﬂﬁﬁwﬁaﬁﬁﬂwaﬁmwaaﬂfs—aﬁ
IE.FEH-j_mHﬁB ] B

Options:
1. % 327
= ¥ ER
3% 125

4. % None of the above | J0d% # & #1E T51

Question Number : 30 Question Id : 3354727760 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
If Ajay earns 25% more than Balu and Balu earn 20% more than Cybil, then by what percentage more does

Ajay earn over Cybil? | Tg e, oTc] & 25% 1€k HHTaT & &% e, ATEled § 20% i< ®uaT 8 91 aF, efld 4
Wi ar Tée FATaT 57

Options:
1. % 45%

2. % 48%
3. ¥ 50%
4 % CG%
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Question Number : 31 Question Id : 3354727761 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Joe and Jack can toast 2 dozen breads together in 10 mins. If Jack falls sick suddenly, then Jill takes 20 mins
to do the same job. How lozr%%wﬂl Jack alone finish his job if Jill refuses to join him? | 7 30T ST 2 g9 98 & A

ﬁﬂﬂﬂl@ﬁﬁ?ﬁﬁ?ﬁﬂﬁ% AT SETAE & A US AT g, a1 Mol &1 6T @1 @ @t # 20 TH\e 77d 51 57 @1 oTihe 367
T & T H TR wwe Iie, FoAeT 38 Wi 3 F S &Y 27
Options:

1. % 10 mins [ 10 fime
2. % 15 mins | 15 fime
3. ¥ 20mins | 20 AT
4. % 25 mins | 25 fime

Question Number : 32 Question Id : 3354727762 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
If 10% of x is the same as 20% of ¥, then sy is equal to: | AT x FTL10%, v F 20X FAAM S, TT3x v THF avlal o

Options:

1. %51
2. % 1.2
3. ¥ 21
4 % 10:1

Question Number : 33 Question Id : 3354727763 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

The sum of three numbers is 174. The ratio of the second nurmber to the third number is 9:16, and the ratio of
the first to the third number is 1:4. What is the second number? | 19 TG FT AT 174 §1 GO AT B o 947
AT U 9016 B, &7 g S o 1 AT F ST 14 B Ry T g 57

Options:

1. % 52

2. % 45
3. ¥ 54
4 % g0

Question Number : 34 Question Id : 3354727764 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The fourth proportional to X <y, (x+¥)°, (X —y) is:/x +y, X+, (x—-¥) %ﬂﬂ_ﬁwﬁfﬁ

Options:
1% (x-v)

x?-y?

2 ¥

gy }_.:

4 % (x4
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Question Number : 35 Question Id : 3354727765 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The sum of the angles of a regular polvgon is 1440°. The ratio of the interior to exterior angle

is /U A TGS & IV R TS 1440° §1 3T FHIOT HT FfgRIOT F
Heqard 2l

i
Options:
1. % 1:
= ¥ 4
3% 1
4. ® 3

= Ll e

Question Number : 36 Question Id : 3354727766 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

If23x22x 011 =5566,then 0.023x 022x 0.00011isequalto___. [ AL 23x22x0.11 = 5.566, 91
0.023 % 0.22x 0.00011 & AT 7

Options:

1. % 000000055668
2. % 000005566
Z. % D.00S5E8

4. % 0000005566

Question Number : 37 Question Id : 3354727767 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

what should be added to 18962, so that it becomes divisible by 137 | 18962 R SO ARSI AT 150, AMF I3 13 9
A o AT

Options:
1. %1
> ® 2
3. %3
4 ¥ 5

Question Number : 38 Question Id : 3354727768 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
21012="7

Options:

1. % 4414501

2. % 4414401
3. ¥ 4414201

4 % None of these | g8 @ &1 981

Question Number : 39 Question Id : 3354727769 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Correct: 1 Wrong: 0

& train 260 mlong is running at a speed of 45 krmfhr. In what time will it pass a bridge 140 mlong? | 360
HIeT Fall U CATST 45 Tt/ =T &1 1id & o 151 81 ora aua 8 9% 140 Wt el I &1 U7 & il

Options:

1. ¥ 40 sec | 40 HHE
2 % 42 zec | 42 HEUE
3. ® 45 gec | 45 HEUE
4 % 48 zec | 48 HHEZ

Question Number : 40 Question Id : 3354727770 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Ravi buys toffees at the rate of two toffees for Re. 1 and sells at five for Re. 1. His 10ss percent is: | Tier e T
H T ST T T THAT FelgaT & o Ue 0T § O & g7 F ST 81 39 JEa 1 0T 8

Options:

1% 120%

I =10

3% 30%

4. ¥ B0%

Ceneral Hindi

Section Id : 335472250
Section Number : 3
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20
Section Marks: 20
Display Number Panel: Yes
Group All Questions: No

Sub-Section Number: 1
Sub-Section 1d: 335472250
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 3354727771 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

BT e A e ___ st Tt et B
Options:

1. ® F=r

o VIR

3% IO

4 % i@t

Question Number : 42 Question Id : 3354727772 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Correct: 1 Wrong: 0
o ot i e ot g1 27
Options:

1. v o

2 % d9

3. % AT

4 % gy

Question Number : 43 Question Id : 3354727773 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
e o HT AT ARl 51d T 7

Options:
1.9 37
> % T
3. %37
4, % =

Question Number : 44 Question Id : 3354727774 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
L) R = Tt @t aE-aTid |Jasm

Options:

1. ¥ wgied
2 S

3. % OETag
4 % T

Question Number : 45 Question Id : 3354727775 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
e ey AT T F AT E AT A S e EGLE

Options:

1. % &
2. ¥ A
3% e
4. % 3

Question Number : 46 Question Id : 3354727776 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
AT W T g H # B AR

Options:

1. Fhoft
2 ® griver
3. % 9
4 % gEm
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Question Number : 47 Question Id : 3354727777 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

" T T JUeRTe 1 AWGT 51 o Tordl U dTeg, 49 § & #1997 27
Options:

1. % gad

=R T

3. ¥ oA

4 %

Question Number : 48 Question Id : 3354727778 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
“of T T 1 fedg P A G @A AT g

Options:

1.9 ot +a
. ® od+ar
3 % afftam
4. ® oEH+ae

Question Number : 49 Question Id : 3354727779 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
‘M H A deg FE H E FA AT R

Options:
1. % ST
2 % fome
3 ¥
4. % ST

Question Number : 50 Question Id : 3354727780 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
I AT AT Teg FHH A R E?

Options:

1. ¥ I=
2 % 2
3 % A
4 % Fhf

Question Number : 51 Question Id : 3354727781 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

‘TgT g § Ty H | @19 |7 'ae 27
Options:

1. % Jcgey 9ug

2 ® fgyanE

3. ¥ e ave

4. % iy gug
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Question Number : 52 Question Id : 3354727782 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
W1 TICH AT Hgra 7 o g # @ wa e ge

Options:

1. % s @

2 ¥ gaE A

3. U AT

4, % TR L@ AieT

Question Number : 53 Question Id : 3354727783 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

‘TEIJAT P F & 77§ & #9187
Options:

1. * 9319

2. ¥ qegar

z % geEr

4. ® FgAaw

Question Number : 54 Question Id : 3354727784 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

“Tel e | g1 AA-|1 9T 3T § gawer 3

T, JTE, SeAT-Taniied, a0 & & &g 7 99 1|
T Uil # g A g @t e 27

Options:

1. ¥ g

= ¥ eIy

. % g

4 % FEaTd

Question Number : 55 Question Id : 3354727785 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

T T el sl ST ST giTe ot
H I AT STw R 5 T5f fowed gimur

Options:

1. % JouyT aEE
2. % HIE SEa
3. ¥ THw SEE
4, % 2T AT

Question Number : 56 Question Id : 3354727786 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
TH g F TAAIT feg gig- I
Options:

1. % ayarmoy
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= & g

3. % g
4. % g

Question Number : 57 Question Id : 3354727787 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

I T I g i g

Options:

1. % Tyopa, smdfar, 2uf, wear

2. % e, e, ST, mae
3. % o0, aiiRETs, weea, Mewa
4« whe, amsfiaie, Swal, mameT

Question Number : 58 Question Id : 3354727788 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

T AT & AT AT e B -
Options:

1. % g

2. ¥ Tegar

3. ¥ T-gled

4 ® To-ae

Question Number : 59 Question Id : 3354727789 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
"ot deg AT aRfE -
Options:

1. ¥ avEm

o ® arfaem

3 % goAe

4 % g

Question Number : 60 Question Id : 3354727790 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
T 1o | & e aWTe & Jarge a7

Options:

1. % Zz |AT

o, % AT W
3. % TmremEE

4. ¢ ageiity warE

Eural Economy and Panchayati Raj

Section Id : 335472251
Section Number : 4
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Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20
Section Marks: 20
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 335472251
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 3354727791 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Recognizing the potential and possibilities in the fisheries sector, Government of India has envisaged a
programnamed _________ | TR T G H T S STt i Ugeed g, RS HeR T ATHE FTEA
o}

Options:

1. ¥ Blue Revolution | Y& @l
2. % Matsya Yojana | AqEd IMT
3. % Sea Revolution | g #id
4 % White Revolution | S&d ®id

Question Number : 62 Question Id : 3354727792 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

_________ pI'D_]ECt has the mandate 1o pmwde hl%f;l SpEEd broadiband toall panchayats b‘j.? March 20149, | 'Fl'lff
2019 T T4 =4 F1 35 T T des 0 #ed i ST 21

Options:

1. ¥ Bharatllet | AR~z

2. % Mission Fingerling | e T
= % Telecom Yojana | S#@H Jr==T

4. % Vidyanjali | e

Question Number : 63 Question Id : 3354727793 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

As per available estimates (CAR-2010), out of a total geographical area of 22873 million hecta about
_________ is subjected to various kinds of land degradation in the country. | SUFed SR (ATEHTR 2010) F
AN, 328.73 THiea geel o Fol Wi Toie &1 T el Tam _________, ST | el WeRTe o 918 SOT o STefie T ST B

Options:

1.9 37%
= ® 20%
3 % 15%

4. ® 543

Question Number : 64 Question Id : 3354727794 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Who decides the agenda of meetings of Gram Panchayat ? | TTH U= F1 Sa®! &1 FTaga] B T T g7
Options:

1. ® District Collector | FaaTeftar

2. % Janpad Fanchayat | F=0g 0=

Z. % Zila Panchavat | F&T /e

4, % Gram Panchavat | 70 t=a

Question Number : 65 Question Id : 3354727795 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

‘iﬂmic:ll%nr;%?the following is NOT a component of Gram Kosh (Village Fund) | Fa@RET # & &= o i (g =) &7
T

Options:

1. % anna Koash | ag @iy

2. % Samagri Kosh | 9T &Y
= % Shram Kosh | 57 ®19

4. % Nagad Kosh | 77g &9

Question Number : 66 Question Id : 3354727796 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

What is the term of presidents of standing committees of Gram Sabhas except Gram Vikas Samiti | T &
AT B FlSde T THT & ST GG I] & sreasl @7 e [fddT 51T 27

Options:

1.% 1year | 1ad

2 ® Zyear [ 2ad

3 % Syear (A

4 ® Syear | Sy

Note: For thisquestion, discrepancy isfound in question/answer. So,this question isignored for all candidates.

Question Number : 67 Question Id : 3354727797 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

%%igjﬂ.r? E%ois, Raikwars and Barmias of Madhya Pradesh belong to: | B2 US4 & AR, AiEE, Year o aifar

Options:

1. ® Poultry farming cormrmunities | Fge TTe Fe @ TEar

2 % Goat rearing corurrunities | FEC O B dTel TEEe

3. ® Sheep rearing cormunities | 92 UTe & Il G0

4+ Traditional fishing corrrnunities | TWORHT BFs! OTa- 5 dTel TgE

Question Number : 68 Question Id : 3354727798 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The Mational Food Security Act was enacted in which year? | T8I @ GeaT ATEWaw o @ @ e mae

Options:
1.9 2013

2. % 2010
3. % 2007
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4. % 2005

Question Number : 69 Question Id : 3354727799 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

which of the following dav is celebrated as National Panchavati Raj Day? | FaeiEs § & &= 91 2=, i tamadt
ERCELE R R e e

Options:

1. # January 15 | 15 el
2. % January 20 | 20 =0
= ¥ April 24 | 24 A

4. % January 30 | 30 FAaT

Question Number : 70 Question Id : 3354727800 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
After 73rd Amendment, Janpad Fanchayat Elections were held for the first time in Madhya Pradesh in

| 73 G W W, SIS W A, FE Ul H g a1 o ST TeRy I 4N
Options:

1. % 1959

= % 1965

3. % 1972

4. ¥ 1994

Question Number : 71 Question Id : 3354727801 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

In Tejaswini Wormnen Empowerment Prograrmime in Madhya Pradesh, financial assistance to wormnen is given
through: | mwu%;mﬁﬁa%nﬁn%mﬂmmﬁ emﬁﬁﬁmmﬂﬁnﬁmaﬁaﬁﬁ?ﬁamﬁaﬁ%
Options:

1. # Joint Liability Group | §9% g1<cd 945

2 ¢ Self Help Groups | &< Gg=ar 9dgt

3. % Association of women | AfgAT @9

4 % Wornen panchayat meribers | Agal G=d Haadi

Question Number : 72 Question Id : 3354727802 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

The number of farmers insured under Pradhan Mantri Fasal Bimia Yojana and Restructured Weather Based

Crop Insurance Scheme (combined) in Madhya Pradesh during Kharif 2016 is between _________ | meTmea |
ai-‘ru;zme 3 SR M T BT T AT 3 SITTi ST qiTad T ST B s 2T (62F) ST et a7

Options:

1. % 26-30lakhs | 26-30 @9G
2 % 21-3Elakhs | 31-35 @9
3. ¥ 36-40 lakhs | 36-40 &g
4 % 41-4E lakhs | 41-45 @19

Question Number : 73 Question Id : 3354727803 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Madhvya Pradesh State Government has tied up wath ______ for assistance in planting fruit crops. | AT W24 179
TFT  BeAa W BT &1 s H agam e oy _____ T AR T 81
Options:

1. ® Union Agriculture Ministry | @i §9 AF@T

2. % Indian Agriculture Research Institute | S 12 FY aTer Fem=

3. # agriculture Produce MarketingCorrmittes | FY Jo0Tg, 00— @A
4 ¥ NABARD | 9ETE

Question Number : 74 Question Id : 3354727804 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
which of the following is a food crop? | FRFET # & B9 A7 UF TTE B6A 57

Options:

1. % Jute | ¢

2. % Cotton | FUH
= % palm | 915

4 ¥ Maize | AgHT

Question Number : 75 Question Id : 3354727805 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Wwho is considered as the architect of Panchayati Raj in India who was also a Chief Minister of an Indian state?

| AT H UiTer T T T SR T W1 AT 57 o ek W 141 T4 o JeaTh=T dr 47
Options:

1. % Kailashnath Katju | 3 95 #ee,

2. ¥ Balwant Fai Mehta | 9edd o H5a7

3. ¥ Mohanlal Sukhadia | FigaTa gaE=aT

4 ® Govind Eallabh Pant | MiEE g Ud

Question Number : 76 Question Id : 3354727806 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

which of the following bank is the sponsor bank of Central Madhva Pradesh Gramin Eank? | Feea g &&=
T e, Sl WeaT W T TTHIT < &7 WA= g 57

Options:

1. # State Bank of India | ¥Wd 19 & dF

2 % United Bank of India | JAEE dF ATF 51247
=, ¢ Central Bank of India | ®ea @ oTF siZ=
4 % Union Bank of India | iR & oTE giza

Question Number : 77 Question Id : 3354727807 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
‘Avwaas is an Android App related to: | HETT 9 @ GEET UF US TS U &

Options:

1. % Pradhan Mantri Awas Yojana - Grarmin | WA ST =1 - T

2. % Indira Awaas Yojana | SietT e Tr==T

Z. % Pradhan Mantri Gram Sadak Yojana | WT=H=AT TTH =& 4T

4, % Deen Dayal Upadhy Gramin Kaushalya Yojana [ Si9 SaTe SUTEaTd TTHIT ST Tr-1
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Question Number : 78 Question Id : 3354727808 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

What is to be the accounting systermn in Gram Panchayat? | TTH T=THd H &7 T #4497 57
Options:

1. ¥ Double Entry Book-keeping systern | Zeel Ual ser—ohI U1 [EHTH

2. % Mahajani accounting system | AET-1 TETIeT Heey

3. ¥ Receipts and Payments systern | Fiew U= tHTe Heew

4, % Co-operative acCounting system | ®- e TR Heeq

Question Number : 79 Question Id : 3354727809 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

‘ii;;;dmlll t\é\g’(c)gg ﬁgsic and initial fund of a Self Help Group? | UF o< A5MAaT 965 P J6f Ud TR e =7 gy
Options:

1. % amount of bank loan | =@ Fo7T & T7iE

2. ¥ Contributions made by members | TaEal GRT ST T2 d5am

= % Contributions from public | TE=T-E TEA0T

4 # State Government grant | T4 TR SHaT

Question Number : 80 Question Id : 3354727810 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Wwhat is the minirmum amount required to be maintained as balance in MGNREEGS wages account of a worker? |

AT o ST ek FTge o UM T ST § e o &0 H wZAan {1 T3 o srarsaeaT 57
Options:

1. % No minirmurm balance | ®1E ~JAad d=a g1

2. % REs. 50f- | 50 FF

3. % Rs 100/- | 100 70

4, % Rs. 250(- | 250 T

Cormnputer Knowledge

Section Id : 335472252

Section Number : 5

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 335472252
Question Shuffling Allowed : Yes
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Question Number : 81 Question Id : 3354727811 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The mazxirmurn lirmit of colurnn in MS Excel 2007 worksheet is _____ .| THUY UFE 2007 gdate 8 waaaf &
ATTERa T ST

Options:
1. # 183384

2. ¥ 16384
3. % 1024
4. % PER

Question Number : 82 Question Id : 3354727812 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
D51 is an example of: | STUAUA SHE UF 2500 5

Options:

1. % Network | "Tae

= ® Wireless device | ITHT ZaEd
3. ¥ Broadband | #lzds

4 % Spectra band | FUFLT s

Question Number : 83 Question Id : 3354727813 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Firewsall is a term used in: | &g B W H IgEAEAT 2

Options:

1. ® Horme security | o% &1 qT4T

2. ¥ Internet security | S23-e & gLy
3. ® Cornputer security | HEET B GLET
4 % Any security | ToreT ot geam

Question Number : 84 Question Id : 3354727814 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

& machine code is the elemental language of coméjuters, cormprising a long sequence of: | A& #E F =T &
T AT 2, FHH T T O weT aaiﬁnsrﬁ-%rﬁ?r@m :

Options:

1. # alphanumeric characters | STeRI6 T G0 &

2 ¥ 1'sand O0's | 9% 0d 09

3. # Machine symbols | A wd @

4 ® pA'zsandB's | A'STIE'S

Question Number : 85 Question Id : 3354727815 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Ir1 M5 Excel, press to create a formula to surm all of the above cells. | TATH UFad |, T I 91 o I

T B WA o T e e AT AT 2]
Options:
1% Ctrl + =
2 ¥ Alt + =
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3% Ctrl 4+ Alt + A
4 % Alt+Tab + &

Question Number : 86 Question Id : 3354727816 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
15 used to list the terrs and topics discussed in a Word docurment, along with the pages that they

T I T2 STFgHe § Ui g T et & gt sa F T e ST g, syt e e e

Appear orl. |

feamg 37 &

Options:
1. % Bookrmark | gwATE

2. % Hyperlink | S5 e
3 ¥ Index | T2%9
4. % Table | Taa

Question Number : 87 Question Id : 3354727817 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Internet explorer falls under: | §2¥-g TFAYART WA & S@ETT ATAT 8 -

Options:

1. ® Operating Systern | AT FEen
2 % P sddress | AE UL TZ2d

3. % Compiler [ FHIEAT

4 ¥ Browser | 9I3A%

Question Number : 88 Question Id : 3354727818 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
which of the following is NOT a storage mediurm? | FAAGETET § & 19 g &7 ey T3l 27

Options:

1. ¥ Scanner | G930

2 % Digital Optical Disc | fEFed e 2w
3. % Hard Disk | 712 2@

4 % Cornpact Disc | ®HISE [EHF

Question Number : 89 Question Id : 3354727819 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In M5 Word, borders can be applied to __________ ) TATE g2 | "2 & JuhiT

Options:

1. % Cells only | dad 9ed

2. % Paragraph only | #de RUTE
3. ® Teut only | &ad dgee

4 ¥ all of the above | JUET T

Question Number : 90 Question Id : 3354727820 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the f-::ullowin cormmand is I\IQT available in the Home menu in MS Word 20077 | TATg I8 2007 §
ﬁ@ﬁﬁﬂﬁ?—mm%ﬂiﬁmﬁ &l BT 87
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Options:

1. ® Find | BEs

2. % Replace | fae
3. % Select | Helge
4. ¥ Table | Taa

Question Number : 91 Question Id : 3354727821 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The ________ feature in MS Word 2007 automatically corrects certain spelling, typing, capitalisation or

EraImImar errors . | T aE H______ e T oL, TSI, T H a2 argRl # Uivad T SryaT s @ it ® gad
I, AT 81

Options:

1. % AutoFix | sfeithgd

2. % AutoSpell | sfiziRIH

2. #® aytoMark | ST

4 ¥ putoCorrect | STEiwige

Question Number : 92 Question Id : 3354727822 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The mernory which 15 electrically programmable and ultraviolet 15 called as

_______

.| T U A AT w0 E U

Options:

1. % ROM
2. % PROM
= ¥ EPROM
4 % pAM

Question Number : 93 Question Id : 3354727823 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
DRAM stands for: | DRAM T0= & &0 Uggd giaT1 &

Options:

1. # Direct Random Access Mermory | ST5ide (S g Haf

2. ¥ Dynarnic Randorn Access Mernory | STO-THE (27 UFed BAiT
3. % Dynarnic Read Access Mermory | SEHTHE O Uged HATT

4 % Dynarnic Read Access Machine | SRHNE U2 Ugad A6

Question Number : 94 Question Id : 3354727824 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

which comrmand you will see display systern date in MS-DOS? | THUE-ST0 H, o0 T2 Wee 7 2 & oy @ ar
FHIE ST

Options:

1. # Yer command | Ver FAE

2 ¥ Date command | 2 THIE

Z. % Format command | BTHe FHIS

4 % Disk cormmand | [ZHF FAE
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Question Number : 95 Question Id : 3354727825 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Afan ________ is a microprocessor-based computing device, | ______ ATEHHTEAT ST T FCfe 77 3]

Options:
1. ® mainframe | #AHA
2. ¥ personal computer | TEAA HET

3. #® super computer | ﬁ'ﬂaﬁ' 34 G
4. % analog computer | TR HEY

Question Number : 96 Question Id : 3354727826 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

‘08 cornputer abbreviation usually means: | 'O BUET GG BT AT 37§
Options:

1. % Optical Sensor | STCedd ST

2. % Open Software | S7UF H1FcT

z. ¥ Cperating Systern | ST eea

4. % Order of Signification | STET T @ hdaT

Question Number : 97 Question Id : 3354727827 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

which shortcut key is used to move to the next worksheet in MS Excel? | TAUE Ueas H sATe adhdie # S @ fei
TP AT gt @ ST FAT

Options:

1. % Alt +Pglp
Z. % Ctrl + PglUp
3. % Alt + PgDn
4. % Ctrl + PgDn

Question Number : 98 Question Id : 3354727828 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
‘CLr computer abbreviation usually means: | ‘CD’ FWIe HIETEHT FT GHEFR 25 57 2

Options:

1. % Change Data | @221

2. % Copy Density | 0T 2T

3. ¥ Cormnpact Disc | ®THISE [24F

4 % Cornmand Description | #H1E Eiergaa

Question Number : 99 Question Id : 3354727829 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The key for “Save as” function in M35 Word 2007 is: | TAUF a2 2007 § "8 U= Bgae & o0 1 7

Options:
1. ¥ Fiz

2. % F10
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3. % Fe&
4 % F11

Question Number : 100 Question Id : 3354727830 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Wwhich of the following word processing utility could you use to find the synonym of the word? | fHgfafes # &
o o2 WA FRIGET F7 I s auTeiE degt B @ F B e

Options:

1. ® Spelling | &i&T

= % Thesaurus | T

3. * Grarmmar | TTHT

4. % Word Count | 92 FT
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